|ldentifying solutions to an inequality: Worksheet 3.3

Name Date

10.

Is 3 a solution to this inequality?
3x + 14 > 24

Is the following inequality true or false?
y—-—4<9,y=15

Is 4 a solution to this inequality?
6x + 9 > 27

Is 9 a solution to this inequality?
2x = 18

Is the following inequality true or false?
7>2z/4,z= 30

Is the following inequality true or false?
X—3>4,x=11

Is 15 a solution to this inequality?
x/2 <8

Is the following inequality true or false?
X—9<12,x=15

Is 6 a solution to this inequality?
16 <x+ 7

Is the following inequality true or false?
17-y =<7,y =10

Score
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10.

No

False

Yes

Yes

False

True

Yes

True

No

True

Solutions: Worksheet 3.3
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